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Question 1
Question Type: MultipleChoice

A network device has both an SSH port and an SNMP port open. Discovery tries the SSH probe first and it fails. This triggers the SNMP

probe, which succeeds. Discovery uses SNMP first for subsequent discoveries on that device.

What discovery functionality allows the above to happen?

Options: 
A- Classification

B- Credential affinity

C- MID Server affinity

D- IP service affinity

Answer: 
D

Question 2



Question Type: MultipleChoice

Which of the following choices must be installed on a MID Server to run Credential-less Discovery?

Options: 
A- Credential-less Extension

B- Nmap

C- Advanced IP Scanner

D- Defender

Answer: 
B

Question 3
Question Type: MultipleChoice

Which method for deleting specific CIs is not discovered in 30 days?



Options: 
A- Scheduled Job

B- UI Policy

C- Service Mapping

D- Data Policy

Answer: 
D

Question 4
Question Type: MultipleChoice

With multiple CI data sources, which choice is the best for determining which source can update a CI attribute?

Options: 
A- Business Rules



B- Data Certification

C- Transform Maps

D- Reconciliation Rules

Answer: 
D

Question 5
Question Type: MultipleChoice

Which of the following can be used in the Debug Identification Section in Debug Mode for an infrastructure pattern? (Choose two.)

Options: 
A- IP

B- AWS Endpoint

C- PID

D- Host Name



Answer: 
A, D

Question 6
Question Type: MultipleChoice

After navigating to an Automaton Error Messages list from Discovery > Home, how are the options on the right navigation pane

categorized? (Choose two.)

Options: 
A- SELECT ALL

B- SELECT ONE

C- ACTION ON SELECTED

D- ACTION ON ALL

Answer: 
A, D



Question 7
Question Type: MultipleChoice

Which operation is used to change from the default credentials to any other appropriate credentials in a horizontal pattern?

Options: 
A- Change credentials

B- Change user

C- Alternate credentials

D- Alternate user

Answer: 
B

Question 8
Question Type: MultipleChoice



What role is needed by the MID Server's user account to interact with a ServiceNow instance?

Options: 
A- mid_server

B- discovery_admin

C- sm_mid

D- mid_discovery

Answer: 
A
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